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(C ) 27 In theory, if the angle of attack and other factors remain constant and the
airspeed is double, the 1ift produced at the higher speed will be
(A)the same as at the lower speed (B)two times greater than at the lower speed
(C)four times greater than at the lower speed
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( B ) 28 Which statement is true relative to changing angle of attack?
(A)A decrease in angle of attack will increase pressure below the wing, and
decrease drag (B)An increase in angle of attack will increase drag (C)An increase
in angle of attack will decrease pressure below the wing, and increase drag
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(B ) 29 If an aircraft with a gross weight of 2,000 pounds was subjected to a
60°constant-altitude bank, the total load would be
(A)3,000 pounds (B)4, 000 pounds (C)12, 000 pounds

f4e42%.:0016002 220 ¥k B %
( B ) 30 While maintaining a constant angle of bank and altitude in a coordinated turn, an
increase in airspeed will
(A)decrease the rate of turn resulting in a decreased load factor (B)decrease
the rate of turn resulting in no change in load factor (C)increase the rate of
turn resulting in no change in load factor
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( A ) 31 To avoid possible wake turbulence from a large jet aircraft that has just landed
prior to your takeoff,at which point on the runway should you plan to become
airborne?

(A)Past the point where the jet thouched down (B)At the point where the jet
touched down, or just prior to this point (C)Approximately 500 feet prior to the
point where the jet touched down
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(B ) 32 What force causes the glider to turn in fight?
(A)Vertical component of 1ift (B)Horizontal component of 1ift (C)Positive yawing
movement of the rudder
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( ¢ ) 33 The pilot controls the air/fuel ratio with the
(A)throttle (B)manifold pressure (C)mixture control
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(B ) 34 The best power mixturecis that fule/air ratio at which
(A)cylinder head temperatures are the coolest (B)the most power can be obtained
for any given throttle setting (C)a given power can be obtained with the highest
mainfold pressure or throttle setting
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( A ) 35 The basic purpose of adjusting the fuel/air mixture control at altitude is to
(A)decrease the fuel flow to compensate for decreased air density (B)decrease
the amount of fuel in the mixture to compensate for increased air density
(C)increase the amount of fuel in the mixture to compensate for the decrease
in pressure and density of the air
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( C ) 36 Applying carburetor heat will
(M)not affect the mixture (B)lean the fuel/air mixture (C)enrich the fuel/air
mixture
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( A ) 37 Detonation may occur at high-power settings when
(A)the fuel mixture ignites instantaneo-usly instead of burning progressivel-y
and evenly (B)an excessively rich fuel mixture causes an explosive gain in power
(C)the fuel mixture is ignited too early by hot carbon deposite in the cylinder
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( ¢ ) 38 Detonation can be caused by

(A)a “rich”mixture (B)low engine temperature-s (C)using a low grade of fuel than
recommend-ed
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( B ) 39 An abnormally high engine oil temperature indication may be caused by
(A)a defective bearing (B)the oil level being too low (C)operating with an
excessively rich mixture
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( B ) 40 Propane is preferred over butane for fuel in hot air balloons because
(A)it has a higher boiling point (B)it has a lower boiling point (C)butane is
very explosive under pressure
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(C ) 4 On a balloon equipped with a blast vavle, the blast vavle is used for
(A)climbs only (B)emergencie-s only (C)control of altitude
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( B ) 42 It may be possible to make changes in the direction of flight in a hot air ballon
by
(A)using the maneuverin-g vent (B)operating at different flight altitudes
(C)flying a constant atmospheric pressure gradient
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(C ) 43 While in flight, ice begins forming on the outside of the fuel tank in use. this
would most likely be caused by
(Mwater in the fuel (B)a leak in the fuel line (C)vaporized fuel instead of
liquid fuel being drawn from the tank into the main burner
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(B ) 44 To perform a normal decent in a gas balloon, it is necessary to release
(AMair (B)gas (C)ballast
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( B ) 45 What action is most apporiate when an envelope overtemperature condition occurs?

(A)Turn the maun burner OFF (B)Land as soon as practical (C)Throw all unnecessary
equipment overboard
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( B ) 46 Which is the proper way to detect a fuel leak ?
(A)Sight (B)Use of smell and sound (C)Check fuel pressure gauage
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( A ) 47 What is the weight of propane?
(A)4. 2 pounds per gallon (B)6.0 pounds per gallon (C)7.5 pounds per gallon
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( B ) 48 For what reason is methanol added to the propane fuel of hot air balloons?
(A)As a fire retardant (B)As an anti-icing additive (C)To reduce the temperature



432 50:0016021 BE w0 % B 4
(C ) 49 The purpose of the preheating coil as used in hot air balloons is to

(Mprevent ice from forming in the fuel lines (B)warm the fuel tanks for more
efficient fuel flow (C)vaporized the fuel for more efficient burner operation
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( A ) 50 One characteristic of nylon rope is that is
(A)is flexible. (B)does not stretch. (C)splinters easily.
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(B ) 51 The term"to weigh off"as used in ballooning means to determine the
(A)standard weight and balance of the balloon. (B)static equilibrium of the
ballon as loaded for flight. (C)amount of gas required for an ascent to a
preselected altitude.
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( ¢ ) 52 Superheat is a term used to describe the condition which exists
(A)when the surrounding air is atleast 10 degree warmer than the gas in the
envelope. (B)when the sun heats the envelope surface to a temperature at least
10 degree greater than the surrounding air. (C)relative to the difference in
temperature between the gas in the envelope and the surrounding air caused by
the Sun.



